Chain Production

2022/2/23

Preparation gsmzises)

« 4 people per group =4 A5—#)

+ After instructions, each group will
receive @mipri#BREREsS@RA SN T I

+ 1Tape (B#&1Mm@)
« 1 Color Pencil (g&s#= 1)
+ 1 Paper Box (2 1) M

o 24 Slips (4% 24 %)
No Other Tool Allowed! ! FagmpEmTam

How to Produce Rings? ¢nmz#z?)

1. Use Color Pencil to Connect the Dots
(Y EEEE SR (—K—F)

Keep Your Table Clean! wgssmss
Draw ONE Slip at a time! sgramma:

How to Produce Rings? ¢nazemz?)

2. Tape the Slip into a Ring

(PRI 1% AR 1% 3 B ]

How to Produce Rings? @nfasssiz?)

3. Combine Rings

into Chains
(1% 55 BB =B B B3R

Done!! (ER52RL!)

« Each Chain = 15 Ecoins =—msamE)

+ Labor and Capital are both costly
(ERTESANEANHRE)

» 4 rounds: 1 minute each with 30
seconds of discussion beforehand
(Gt4EE  SEARE 1 5 - BIARA 30 BiRIBE)

+ Earnings = Max. in 4 rounds
(185 = 4 EATHBETHE)

+ Each group receives 1 toolkit
(BEERASRIE—E)
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Round 1 (5—[EI&)

» Produce with 1 =@amsmr 1 cemrnm
» 30 seconds Discussion ga#pasaieT 30 waiia!)

« Time's up! Get ready...
(BB BEBEEHERL.)

Round 1 (5—[EI&)

REEDY

+ Round 1 of 60 seconds begins!
(S—EII 60 MBILA!!)

00:28

« Time's up!! Record results @mzn menen)

BIRHETR
Linked-Rings Factory
EERE : =F( : )
(Production Function)
Total Total
Round| Tape |Pencil | Labor | Product TFC TVC TC m MPL VMPL MCL
EE (| wE | s (eze| & | B (28| 2 | @

$25 | 515 | s10 | s15 | wes | moa | mk | Ak | e

1 1 0 0 0 40 0 40 [ -40 [ NA | NA | NA

1 1 1
1 1 2
1 1 3
1 1 4

Mlw ] =

Round 2 (3_[E1&)

* Produce with 2 &=arsisk 2 Aemne
» 30 seconds Discussion gazpasmi 30 wits!)

« Time's up! Get ready...
(BRIZI ! AEBIEEATR(L..)

12

13

bt — /E\I)

Round 2 (58—

REEDY

+ Round 2 of 60 seconds begins!
(SBEIRISM 60 BBILA!!)

00:28

« Time's up!! Record results @mz mesan)

Round 2b (8&845ME O] &)

» Produce with the other 2 =@z 2 Aemnm
« 30 seconds Discussion gmzpasmi 30 witia!)

« Time's up! Get ready...
(RIZI ! AEBIEERR(L..)

14
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Round 2b (885N [ &)

REEDY

+ Round 2b of 60 seconds begins!
(5B EIATE 60 1RALAIL)

00:a8

« Time's up!! Record results @mz #sean)

BIRBRIEI R

Linked-Rings Factory

EERY =F( ' )

(Production Function)

Total Total
Round| Tape | Pencil | Labor | Product TFC TVC TC ™ MPL VMPL MCL
B& @B | HhE | &) | RER| & BE | 28 2 @
$25 | $15 [ $10 | $15 | Wia | AkA | BA | AiAK | FIE

1 1 0 0 0 40 0 40 | -40 | NA [ NA [ NA

1 1
1 1
1 1
1 1

Slwlnv] =
Blwnv] =

16

17

ot — éf)

Round 3 (8=

* Produce with 3 (who did not do Round 1)
(BRISRESME—BST 3 NETRMR)

» 30 seconds Discussion ga#pssaiT 30 waiia!)

« Time's up! Get ready...
(BMZ! ! BEREERL.)

ot — é)

Round 3 (8=

REEDY

Round 3 of 60 seconds begins!
(SB=E&I 60 HEILA!!)

00:28

« Time's up!! Record results @mzn menen)

18
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RIRBEI M

Linked-Rings Factory

EERE =F( ' )

(Production Function)

Total Total
Round| Tape | Pencil | Labor | Product TFC TvC TC
BIE | B | | 850 | RER| & Bl | %8 "
$25|$15 | $10 | $15 | Wi | AiA | miA | A | F
1 1 0 0 0 40 0 40 | -40 [ NA NA NA

MPL [ VMPL [ MCL

2 2 o
58 &

1 1 1
1 1 2
1 1 3
1 1 4

slw|n] =

Round 4 (5M[ES)

* Produce with 4 =misk 4 Aerne
» 30 seconds Discussion gazpasmiess 30 Bita!)

« Time's up! Get ready...
(FSRIBI | BEBEEAARLL.)
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E L

« Time's up!! Record results @mz #sean)

REEDY

Round 4 of 60 seconds begins!
(SBMEIS R 60 HBILA!!)

00:a8

BIRBRIEI R

Linked-Rings Factory

EERY =F( ' )

(Production Function)

Total Total
Round| Tape | Pencil | Labor | Product TFC TVC TC ™ MPL VMPL MCL
B& @B | HhE | &) | RER| & BE | 28 2 @
$25 | $15 [ $10 | $15 | Wia | AkA | BA | AiAK | FIE

1 1 0 0 0 40 0 40 | -40 | NA [ NA [ NA

1 1
1 1
1 1
1 1

Slwlnv] =
Blwnv] =

23 24
Hands-on (50 Ecoins) EE e T
—EBFH Linked-Rings Factory
« Chain Production Record Sheet smusin=
EERE: Y =F(_K ,_L )
(Production Function) §§ig BEX BE)
. Total Total
£$25 | $1548104 ($15) [\ sz (A | Rz /| A |REDREE|RAA
1 1 0 0 0 40 0 40 -40 | NA NA NA
1 1 1 1 3 45 | 40 [ 10 | 50 | -5 3 45 [ 10
2 1 1 2 8 120 | 40 | 20 | 60 | 60 5 75 | 10
3 1 1 3 11 |165| 40 [ 30 | 70 | 95 3 45 | 10
a1 1] a]12]180] 40| 40 | 8o [(100)] 1 [15] 10
25 26
Hands-on (50 Ecoins) SEESIE T
—EBMFH Linked-Rings Factory
« Chain Production Record Sheet smusimisz
+ How would your production strategy HEERB: Y =F(_K ,_ L )
change if wage increases to $20? (Production Function) & LR 1
(MRTE L 2 26 $20 - BMTRBRMANEERE? BHE) _
Round| Tape | Pencil | Labor | Product TFC TVC TC m™ MPL VMPL MCL
By axlsnlaze| 2 | Bz |28 | & | a |SBEZ8EZHE
$25 | $15 $20 $15 | ez | Ak | mAx | miA | Al |BRED|REE|RAE
1 1 7T0T] O 0 40 0 40 -40 NA NA NA
1 1 1 1 3 45 | 40| 10 | 50 | -5 3 45 | 10
2|1 1 2 8 |120| 40 | 20 | 60 | 60 5 75 | 10
3|1 1 3 11 [165( 40| 30 | 70 | 95 3 45 | 10
4 1 1 4 12 | 180 40 | 40 | 80 | 100 1 15 | 10
27 28
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Hands-on (50 Ecoins)
—RREFY (Producton tanenary WE " g
« Chain Production Record Sheet mmumenz|| | [ HHAE
+ How would your production strategy M Lo | oot
change if wage increases to $20? e 288 S
(MRTHE L 2 SRR $20 - BMARSRFWEEREE? BIHE?) S0 | S SEY AN
« Production Function (L vs. K) 5 o o |Hl na /
SERNYE (37 vs. BER) — 3 1H 3
0 1 [ 1 Tof
0 —
2 8 i 5 Ir _i
® 11 3 ‘b . i] 10 15
4 12 1 iminishing Marginal n
Returns (amsam@mal
29 30
=f 1
Q=11L.0) Hands-on (50 Ecoins)

—HEENF i

+ Chain Production Record Sheet smumin=

+ How would your production strategy
change if wage increases to $20?

2 (MRTH L 2 E2M 520 - RONARSRBNLEERE? BHE?)

« Production Function (L vs. K)

— EEAYE (57 vs. BER)

« Cost Functions (FC, VC, TC)
MAE (BERA - ZERA - BHA)

! GO per o phs

31 32
SRRETR
Linked-Rings Factory B. =) 3
I sl Hands-on (50 Ecoins)
(Production Function) W ' && ' BE 100 —REENF
IERAEEE . ,
. « Chain Production Record Sheet smusu=
Total 1
el 75 | w2 Il =z W o + How wo'uld your production strategy
azelll 5z |20 | & [ & - change if wage increases to $20?
15 Il m | mok | un ) (MRTH L5 2 R $20 - BUMTBRRINEEB? BHE?)
0 40 | o |4 |, » Production Function (Lvs. K)
LEANE (57 vs. BER)
0 30 .
A JRCE By - Cost Functions (FC, VC, TC)
8 | 402060 " = AAE (BEME - BEAE - @HE)
11 20 | 30 | 70 « How is Production related to Cost?
- ; " . (4 7 N B IR 0 ot 5 2 RS EERA (57)
12 ||| 40 | 40 | 80 xn
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Hands-on (50 Ecoins)

—HEENF i

Chain Production Record Sheet smusizss=
How would your production strategy
change if wage increases to $20?
(MRIH LT 2 @8R $20 - BMARBRPNEERIE? BHE?)

Production Function (L vs. K)
EERYUE (57 vs. RER)

Cost Functions (FC, VC, TC)
FAE (BEMA - SBHE - BHE)

How is Production related to Cost?
(7 R AL A B 2 R R 52)

Extensions? Staples, MP,, AC, MC zmssim

AES LS T EEARAVEE[FPE] 26 - S5 FIEL - FI9HEBRME)
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